4.2


4.5 + 4.6


4.4


4.8 + 4.9 + 4.10 +


4.11 + 4.12+4.13


+ 4.14 + 4.15+4.16 


4.1

4.7





4.3

            4.17







I feel as if I’m guessing, not figuring out, many of the connections I represent in this diagram.  I wish the author had made the structure of her argument here clearer.  There are many alternative diagrams, therefore, to which I would give full credit.  I left 4.18 and 4.19 out of the diagram as background information, but maybe you thought of a way it supports the argument.  I think that 4.8 through 4.16 are relevant as premises, when linked to each other, because 4.9 and 4.12 seem to show how all together are relevant.  But the argument is none too clear, and I would give you full credit even if you left all these premises (4.8 – 4.16) out of the diagram as background information.  Nor is it obvious to me which sentences support box A.4 and which support box B.4:  the ideas of A.4 and B.4 are so close that I’m inclined to give you full credit for many variations on this diagram.

Again, please try not to be frustrated at this open-ended result.  In fact, when you get an unclear argument structure like this, you have more freedom to criticize an author when the time comes to evaluate her argument.  (Remember that we are still identifying arguments, not evaluating them.)

A.4 The following feminist pro-choice argument fails:  women have a right to full social equality.





B.4 The following pro-life argument is good:  the arguments that show women deserve full social equality also protect fetal life.





C. Feminists should be pro-life.








